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QUESTION 1
Which two statements accurately explain how the Call activity behaves in a BPMN model? (Choose two.)

A. When using a Call activity to invoke a reusable process, the data object values of the calling process are
automatically made available to the called process.

B. The Call activity can invoke a reusable process from within the current process

C. If the process is to be invoked by a Call activity, the called process must start with one None Start Event.
D. At a Call activity, the calling process does not wait until the called process or subprocess returns.
Correct Answer: BC

Explanation: The call activity allows you to call a reusable process from within the current process.

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer- user/
app_bpmn_ref_bpmcu.htm#BPMCU87375

QUESTION 2

Which three options are human task patterns that cause the token to wait in the calling process until the human task is
completed? (Choose three.)

A. FYI

B. Initiator

C. Management

D. Manual

E. Group

Correct Answer: BCE

Explanation: Pattern Description
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Patten _Descripton

Complex Uses a complex routing flow that is defined within the human task

Management Uses the management chain pattern where the assignee is set to the management chain pattern
for the process participant belonging to the group or role assigned to the swimlane.

FYI Bases assignment on the participant, role, or group defined in the swimlane. Similar to the user
interactive activity, but the FYT activity does not wait until completion before contmuing.

Group Uses the group vote pattem. The assignee for the task is automatically set to the role or group
associated with the lane. This interactive activity can only be added to swimlanes that are
assigned to roles or groups.

Initiator The initiator pattern is used to create a process instance.

Reference: https://docs.oracle.com/middleware/1213/bpm/bp-composer- user/
app_bpmn_ref_bpmcu.htm#BPMCU87357

QUESTION 3

Which statement is true about how if-then rules are processed during an inferencing session?
A. Rules are evaluated in the order in which they were added to the ruleset.

B. A particular rule can be fired only once in an inferencing session.

C. The effective date set for a rule can take it out of consideration for evaluation.

D. A priority setting of 1 causes the rule to fire during each inferencing session.

E. Rules with multiple IF conditions receive higher priority during evaluation.

Correct Answer: AB

QUESTION 4

Which two statements are correct about business indicators? (Choose two.)
A. They can be captured at measurement marks.

B. Dimensions allow the user to capture numerical values.

C. All business indicators are captured at sampling points and a subset is captured at measurement marks.
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D. Counters are used for interval start and interval stop measurements.
Correct Answer: AC
Explanation: A Measure Business Indicator is used to capture something that can be measured.

The BPMN Service Engine automatically stores the data in the dimension business indicators inthe predefined and
custom sampling points defined for your process.

QUESTION 5

Which pattern is best handled by using Adaptive Case Management?
A. straight-through processing requiring no manual intervention

B. deterministic, human-centric processes

C. knowledge-based work requiring collaboration

D. application integration processes

Correct Answer: C
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